RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1018 Flush GLZ Masonite FG door (4904-4909\C - Drawings\TX-4906-09.dwg, TX-4909

POWERED BYli'1

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2018
International Residential Code (IRC), Sections R301 & R4609 and the 2018
Intemational Building Code (IBC}, Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or sfucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

74" MAX. O.A. FRAME WIDTH

98" MAX. O.A. FRAME HEIGHT {INSWING)

97.125" MAX. O.A. FRAME HEIGHT (OUTSWING)

i

/
ya

Nﬁi&‘k:! 12
Srwrinl gyt
ot ':b [L S AT \?
ot »* ¢ =33 e
,..:\V‘;.‘ P .

n"jtzr" T
XY g
L e e
F. il
L ¥ i oL
toi Wiy
p L Vi i 2
7, tS T
(:)\/*‘.e 102
p A 0y

(22

s
é‘ﬂ(’@‘o. = .v';e

Goay T Lo
‘ff_ks:: PR
"9

i

XX

INSWING

+40.0

-45.0

-45.0

XX

OUTSWING

+40.0

-40.0

-40.0

drawing.
4. Conditions not covered by this drawing are subject to further engineering
analysis.
TABLE OF CONTENTS
SHEET# | DESCRIPTION
1 Typical elevations, design pressures & general notes
2 Astragal details {Ultimale Flip Lever)
3 Astragal details {Ulfimate Multi-point)
4 Astragal details {Ultimate Huricane)
5 Door panel details {lip lite insert glazing)
6 Horizontal & vertical cross sections
7 Vertical cross sections
8 Frame anchoring

ui

Ry

-

53

Ex &

£% b

Q . ]

U)u! 15

. 0. ~

w Efo:

cg ;

[+] [« B0td

° (3]

€ T 10

2 59
>0
owm
n
o~
X
O
m
[+]
o

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
CERTIFICATE OF REGISTRATION # F-11852

TEXAS BOARD OF PROFESSIONAL ENGINEERS

w
=
28
w)
&
=
Z L
< o=
o =]
> > <©
= - R
g =l
o o
2 ?c'%
5 % 80
> O] &
) — Pagry
o
2 g
o 0.
o i
] I %)
W
)
o]
Q|0
O
8l
Elo]
Sid| |»
A z
ol 15
SR 2
ElS| @
5B
S|
Ll
~|E
813
<
o
NN
Y =
NEE
[s)}
-1 lo
zZ
oate: 11,/8/18
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4909

sHeer 1 oF 8

© zo18 R.W. BUILDING CONSULTANTS INC.



TON] BANVLINESENOD BNIQTUNE MY 8LOZ @

SNOISIAIY
ZGBLL—d # NOUWMISIOZM 40 IUVOLJUNID -
SHIINIONI TYNOISSIJONd 40 Q¥VO8 Svx3lL (¥3A37 d3 ALy Ad 310 [ON| | . ©
L6L6°6S9°CL8 1ON SUOUY SUVIIQ WOvHISY 3000 2¥1/081 8102 OL 31v¥adn N X m 3.
: T (o)}
G6SEC 14 OOMIDA OSZ X08 ‘Od \Sug. X1BW3SSY 80 Livd [ 547 %® NOIIdO awbijuoisny, aav| 61/¢2/6 | | = s2|°
*ONI “‘SINVLINSNOD ONIgTINg = s s M v_A 2_
ooz
SZLHOL#F "3'd SVXIL VENANT E g ¥ w m
‘T'd PIWYDS 4 uopukl :Ag pesodeug sjuswnoog 110Naoyd SIGIEISIE &
wl
X
[s°4
z Y
o
=3 oz
8w 2
< Iz 5w
LL M = M =
‘D o M 5 <
JioTIoT g
WOLLO9 =
2
ISl SN <
Ly I3 ol D
of
x
n.Mm
() w
= =
T T
i (Vi
a o
a3 & &
> >
20 o
# 3%
(%]
Zz
2 2
< Q B ——
3 n Z
o m Q =
5 = O
24 L = LLi
O —_ [+ 2 _J/ w
7S < —d
m (24 <
O < o
Z = % =
0 <
O
o
WS9°T
®)
5=z
o~
o0
e
e
O o
<0
[+ A=
W <
o Q. -5
> o W —
o Q
Hs <
2 >
=0
Oa —_
2w dOl
&2
& o
s X
—d
3
[<)
W_ A
Q ol
=
[T] —Inl
N )
S <
2 Ee i
B ™~ W W >
& & o o L
w3 QO I = '
-0 ==
3 %3 52 o
T o Q RO [op= =
a = T3 o 3
o & 3 = %2 LI
o > e Lt
O = 3
- h = = <
= 0 3 =
o Q = =
#*= O —
g* / =

22 'BMP'60-906-X L\sBuIMeIQ - D\B06Y-706Y) 100p OF a)UOSB Z19 YsN|3 8LOL-Y¥G - IQL\SU} JO 3d3Q sexa] - G\LNINVINYId BInpus\SIUBID\Y



*ON] BANVLINENDD aNIgTing 'm's 8102 o)

Iliil}. - —
QO i, [ St syl S e s e ———————e— e we 2
R e 0 N A—— . - oo | S

N

SNOISIATY
ZS8LL—d4 # NOLVYLSIOAY 4O ILVOLJILYID D.ZG&!:QD‘,& m:‘,\g.::v V4 TON
SHI3NIONI WNOISSI40Nd 40 QNVO8 SvX3l STVLIA IVIVEISY Ad 355 555 555 T Sea 3 m S. x % % 8_
LBLE°6G9°CLE 'ON suoyg : e 4 &|s
S6SEC "4 ODMIDA OCZ Xog ‘O'd \S@h ATEWISSY H0 Ldvd [ 5] ® _NOUdO  3wpJjuolsnd, qav| 61/52/6] | 3= 59
"ONI ‘SINVIINSNOD ONIaing = slsle x 3_
LDz b~
Lofoud . E
£ZIYOL# ‘I'd SVXIL vanaNn3 glzg %3 w
‘F'd ‘IPIWYDS ‘4 uopuly :Ag pesodeuy sjuewnsog 110NA0¥d slolald|o %
Lt
M
PO mm
WoLLog 5
2%
S&
| |
. 5 =3
: = <
. 9 m
L ; S N sl ey
W : >0 3
Nw.‘. .;wa m’@; ..W.l-.ﬁnmtﬁ( -~ z _ =~
AR w T M
" T x
R 39
3 n 3
v
(%]
5 T2 £
[20] T u d
[ < o
QB >
B ﬁ %
) .
v 8L w
~ _ c
o
@2 5=
. Z - 3
o O 2 « ) 3
23 2 | §
] 2 o & z 2
= S ® 3 2
o L T =
Q < [ew]
2 =z
& ra)
o &
m <
> X
< 59T
- w
2 < :
T O [ O
\«r in = O P
[ ~ P2 30}
S ! o Jat £
T | 0 Q 5
) Q o <
8 2 o F %o
S g & K 5
o 2 o =
=8z &
dOlL @z 3 *
O o 3 ()
i £
— i
v W N
& @ 8 =
& = 8
= C o [='e)
™~
=0 9 *
- m W o
> =3 o)
® = z = -
™ <
 Z 2 @)
{ © 0
5 9 <
H = = = |
3] 0] 5 g
N & £ <C
Y ® o £ £
s\h) & - 3 5 TN.u
& ARy, u\«#l G [0)]
¢ _ﬂ/ T =y Z X © o o
e\ X 5 2 5
2 3 s D
E _ o 5 0 =
< e} 3 & L
[ o] Py —d —
o 2 £ <C
> Oo
o 35
o] <0 £ =
2 57 g =
S 5 < oD
@
o
o
= N - \ '

'€ 'BMP'60-9067-XL\sBuImelq - D\(606v-706Y) J0OP D4 SUUOSBI Z19 US4 8LOL-YA - IQL\Sul §0 3daQ sexal - S\LNINVINYId BINPUI\SIUBID\Y




RiClients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-1018 Flush GLZ Masonite FG door (4904-4909)\C - Drawings\TX-4906-09.dwg, 4.2

(2) #8 X 1-5/8" PFH

WOOD SCREWS UPPER BOLT SLEEVE

(REINF. POLYMER)

G2y ry
Lyndon F. Schmidt, P.E

TEXAS P.E. #104123

=
2

ANCHOR SCREW LOCATIONS o

@

= | R o) 3 T

(TRIM COVER REMOVED) I
(2) #8 X 1-5/8" PFH F~—10.5"— 3.5
WOOD SCREWS
HARDWARE LOCATIONS
1.75" |
e e
§ l BOLT RETAINER SLIDE BOLT ROD f
0.063" —={|~— (GF NYLON) (STEEL)
N _
!5 #8X3"PFHWS ——— ||
o= DEADBOLT STRIKE
BOLT RETAINERS PLATE
LOWER BOLT SLEEVE #8X2-1/2' PFH WS 5
(REINF. POLYMER) ASTRAGAL SECTION SLIDE BOLT ROD i
/ LATCH STRIKE
[/
ALUMINUM / PLATE
ASTRAGAL
LATCH & DEADBOLT DETAIL

ALUMINUM ASTRAGAL ASSEMBLY

ULTIMATE HURRICANE ASTRAGAL

P.0. Box 230 Valrico FL. 33595

Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

im
0
IO
N
x
= ., 8BS
) P
) &l =
m Sl
& a8 <=
Lt Q:<
ol 52
e N <§
o
Q
8 o p
o &
& <
. o
b T P
Lol

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

9/23/19 |ADD "FusionFrame” OPTION &

1

NOJ| DATE

oaTE: 11/8/18

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4909

SHEET 4 oF 8

© 2018 R.W. BUILDING CONSULTANTS INC.



95" MAX, DOOR

"]
Qg
¥ »
o ]
STILE STILE £ 8 8
(LAMINATED WOOD) 56 e (LAMINATED WOOD) fu ¢RB BT
' EXTERIOR w =Ly e
TOP RAIL 7 5,% g2 32
3 00
* \ \ {(WOOD COMP.) ”\ / £ g E § 2g
o 2aa i
+ ] z o % éZ [N
. k > A & £ 5292 95
FIBERGLASS SKIN /| I
" " (0.075" MIN.) & o gk
1.6 INTERIOR 1.6 —\ ’, 3 L§ o2
T 5 E
LOCK BLOCK E x4
(21" HIGH) g
/"1 HORIZONTAL CROSS SECTION
b/ .
=
52
< QN
35.75" MAX. S P
PANEL WIDTH SR E
& é ey
EXTERIOR o
21.0" MAX | INTERIOR 0 ) 3 SE'J’
D.L.O. WIDTH K x 8
3 |s
5 g g
At I P
— GLASS BITE 3/4" vl &
EXTERIOR POLYURETHANE SEALANT é—'
—— 1.0"NOMINAL GLASS THK. <8
— TA 2 1/8" TEMPERED GLASS 8|z
S =8 1 : .47 NN T FOAM CORE } "o|n| 1O
o < i sttt - 7 ‘ - £
i ) 5 e 55 ~~—1/8" TEMPERED GLASS (POLYURETHA@ 2 & %
2 RS | el
x o STEEL SPACER 5 2l
INTERIOR o 18
SEE HARDWARE : : e : . it S8
TABLE =l
BOTTOM RAIL Pt =
(WOOD COMP.) ~ ™ R 2 |
SN 3 |z
2)-GLAZING DETAIL \ NE=
b Flush Glazing s N !
—_ (@]
P
oate: 11,/8/18
MASONITE 75" —o] Y
Flush glozed .T.S.
{fiberglass) DWG. BY: JK
CHK. BY: LFS
LATCH: KWIKSET SIGNATURE SERIES (991) ("2 VERTICAL CROSS SECTION PRAMING NO-
: 5 TX—4909
KWIKSET | DEADBOLT: KWIKSET SIGNATURE SERIES (980/985) \&/ —

Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD}.- DR-1018 Flush GLZ Masonite FG door (4904-4909\C - Drawings\TX-4906-09.dwg, 5.2

© 2018 R.W. BUILDING CONSULTANTS ING.



R\Clients\Endura PERMANENT\B - Texas Dept of ins\TD! - DR-1018 Flush GLZ Masonite FG door (4904-4909)\C - Drawings\TX-4906-09.dwg, 6.2

2N/ 37\ 2X FRAMING 2X FRAMING ey e
YN, (G>=042) / DRYWALL (G>=042) - DRYWALL | Sox*iEi 4t - @
~p ~pror\ SRS Y S o G
\ > ] FT IR o s B ouE
< 1 - T EoihriSic 8% G (% g8 &7
| EXT.SHEATHING J EXT. SHEATHING ]} o %‘%f R Y Pl |
/ / ny !’,ﬂ ?ka:.l“z; 52’8 ﬁl_‘g = ég g 8§ gz
7a % il i Gin 1917 SSAN (3P Eig 2B
/ / ) it ‘)"2{@“"‘- i & ”[‘\ - 585 0
/ / ! #10X 2-1/2" PFH 1 Rt x5 e £g5 50
0X2-1/ ) Mmadaa & S o
WOOD SCREW 1 PN
7 & a e [«
]/4"MAX~ 4 g go.g o
I SHIMSPACE e [ I~ #10X 3" PFH § Bea §§
g Z = 14 MAX. — WOOD SCREW 2 § E
0= SHIM SPACE E X gﬁ
X o X ] > 00p0o00) 3
DOOR PANEL DOOR PANEL
/™ ~ | ~ N
w 5 HEAD: PINE HEAD: "FusionFrame" (1-PIECE) 3
Q
ENDURA WEATHERSTRIP / ENDURA WEATHERSTRIP EQ
(QEBD/PE 650) (QEBD/PE 650) §e
A\ A\ S e
// // EXTERIOR INTERIOR EXTERIOR INTERIOR 3 |2 L0
) , | o 5o
/ / {2\ VERTICAL CROSS SECTION (73" VERTICAL CROSS SECTION A 88
w Outswing shown - inswing also approved \6_/ Outswing shown - inswing also approved £ o
s o T
o b
@) o
o <
Q. Q.
15" &
174" MAX. ] e ganK 1/4' MAX. 0
SHIM SPACE (vP) SHIMSPACE 1. SHEATHING
CORNER PADS EXT. SHEATHING \ JAMB: (rtgggF;?E"é% /
(TP JAMB: PINE \ -
0.75" 0.75" —T-—ﬁ 0.75" e / 2-1/2" PFH ULTIMATE HURRICANE ASTRAGAL ~ #10 X 2-1/2" PFH é% e 2
T S R ¥ #uoo)éo S/CREW ULTIMATE FLIP LEVER ASTRAGAL ~ WOOD SCREW &
ULTIMATE MULTIPOINT ASTRAGAL %
COMPOSITE Q)E;FE.AQA%G ENDURA WEATHERSTRIP 2X FRAMING o
S| snae-oN (G>=042) ENDURA WEATHERSTRIP i (QEBD/PE 650) (G >=0.42)
CA{\ (QEBD/PE 650) A DOOR PANEL : :
5% :
v o / <
- =
) \ N 2 - A S
! g LVL R S
=z
. D\ /
0 J DRYWALL/ / #8 X 2-1/2" PFH DRYWALL |2 11/8/18
#8 X 2-1/2" PFH #8 X 1" PFH SMS LATCH WOOD SCREW #8 X 1" PFH SMS #8 X 2-1/2" PFH scate: N.T.S.
——-] 1.25" l——_’ 125 = | 195 | WOOD SCREW } HINGE STRIKE PLATE  #8 X 1" PFH £ HINGE WOOD SCREW DWG. BY: JK
/ IAME #8 X 3/4" PFH SMS 47HIN WOOD SCREW #8 X 3/4" PFH SMS o e LFS
JAMB / HEAD JAMB / HEAD DRAWING NO.:
AN Rusonfome’  ‘Fusonfame ((1\ HORIZONTAL CROSSSECTION T 4908
(1-PIECE) (2-PIECE) \.8_/ nswing 9 ako dpp o 5 o 8

@ 2018 R.W. BUILDINE DBONSULTANTS ING.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1018 Flush GLZ Masonite FG door (4904-4309\C - Drawings\TX-4906-09.dwg, 7.2

\\ A\
INTERIOR EXTERIOR INTERIOR
/DOOR PANEL DOOR PANEL
ENDURA
DOOR SWEEP ENDURA \
(DBK-R) DOOR SWEEP
g /ﬁ? / (DBK-ZAC)

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION
w Inswing Adjustable Threshold

ENDURA
WEATHERSTRIP
(QEBD/PE 650)

(023)

EXTERIOR

//

wx

EXTERIOR

N

DCOR
PANEL

DOOR PANEL
ENDURA
WEATHERSTRIP. A _
(QEBD/PE 650\ ERIOR EXTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION

#10 X 2.5 PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7”3\ VERTICAL CROSS SECTION

N

Inswing Articulating Threshold
w/ Pin Capture

W Outswing Bump Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"4 "\ VERTICAL CROSS SECTION

\U Qutswing Bump Threshold

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9187

P.0. Box 230 Valrico FL. 33585
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:

CERTIFICATE OF REGISTRATION # F-—11852

ENDURA
VERTICAL CROSS SECTIONS

PRODUCT:

LFS | PART OR_ASSEMBLY:

UPDATE TO 2018 IBC/IRC CODE

, Il = L 1
Y 3 = > 8 -
L ' S ! |
| 456" | e | 4.56" ! 456" | - 456" !
INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
1 ZAlL4565 2 IAI4565FN ZIAILAA4565 IAIAA4565FN ZAI4565RDS
MAX. DESIGN PRESSURE = +40 PSF
g
! ' 4.56" - ! 4.56" 4.56" - ! L———————‘ 4.5¢" ———J
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD
6 IACLA5465 7 JACA545FN ZACLAAA4565 LACAA4565FN ZACA4565RDS
MAX. DESIGN PRESSURE = +35 PSF
FaCERD | | 2N
N D [ N D =N D _‘
1 i f _L..g f ;%
l—-————— 4.54" l ]—-——— 4.56" ~—~———>] ! 4.56" ! ! 4.56" ,!
1 OQUTSWING THRESHOLD 12 OUTSWING THRESHOLD 13 OUTSWING THRESHOLD 14 QUTSWING THRESHOLD
ZOBA4565FN 1OB4565RDS FOB4566

I0OBL4565

9/23/19 IADD "FusionFrame” OPTION &

1

REVISIONS

NOJ DATE

DATE: 11/8/18

SCALE:  N.T.S,

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX~4909

SHEET 7 oF 8

© 2018 R.W. BUILDING CONSULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-1018 Flush GLZ Masonite FG door (4904-4909)\C - Drawings\TX-4906-09.dwg, 8.2

o HEAD ANCHORS: W
Zuz #10 X 2-1/2' WOOD SCREW (PINE JAMB) s "
2O& 2X FRAMING #10 X 3' WOOD SCREW (1-PIECE JAMB) iy 8 o &8
o {BY OTHERS) ¢ & £ 2 uo
ﬂ: = 8 M ———.—-. A - d .- .‘: 8 b’é (5 "?) G ‘I_
< a8 (TYP. — 4 (TYP. : Lo 20, gl
4 ~ (TYP) #10 X 2.5" PFH WS ‘g B2 =
P (TYP.) | ! ) iz §§ §§§ o
A Iyl e - nkE
ay | T 1 7T RS g5 b
. 1 % o™ & oa. EB
0 —— 14
3 SEE DETAIL 1 L S LA
S = ASTRAGAL STRIKE § 358 °
‘ DETAIL1  PLATE @ HEAD JAMB £ 3ak gg
| — 2 — Y
3 E \ JAMB ANCHORS: P g 3
N #10 X 2-1/2" WOOD SCREW {PINE/2-PIECE JAMB) §
#10 X 3" WOOD SCREW (1-PIECE JAMB) \ e
= » 44— #8 X 2-1/2" PFH WS
) T e e %
R SEE HINGE ) 4 ® o [lov < o
DETAIL 2 #BXTVPFHWS <=0 11 *ll ™~ #g X 3/4" PFH WS =
» | 1 4" X 4" HINGE g | X
\) a =5 =
\ uzJ cxz:) <
SEE DETAIL2 OR 3 by
Y - HINGE DETAIL 1 B 3
. 8 &
- | 4 <
1] ; —_— \}\ o a
T " SILL ANCHORS: || ROXEUETINS 2 s
4 (‘;{T(F;-\),P : #10 X 2-1/2" PFH WOOD SCREW H| ® =
- g 1/4' X 2-3/4" ELCO OR " 4 | o ’ 3
HINGE JAMB  FLOOR SUBSTRATE MATERIAL —~— 4'(TYP) ITW CONCRETE SCREW #EXTPRHWS <0 I, I =F= #8 X 3/4" PFH Ws [0
—————  CONCRETE (MIN. 3000 PSl) ~— 4" X 4" HINGE 3 &
WOOD (G >=0.42) FRAME ANCHORING \) SIN
XX v S é_b) wn
JAMB NOTES: " olo| B
THE PINE OR “FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. - NOTE: THIS ADDITIONAL ANCHOR HINGE DETAIL 2 tls| 2
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. IS REQUIRED FOR D.P. > 40 PSF. '-E o g
CONCRETE ANCHOR NOTES: § :
1. Concrete anchor locations at the comers may be adjusted to mainiain the min. e =
edge distance to mortar joints. : . 3/16" X 2-3/4" ITW CONCRETE SCREW - : a &
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to OR ASTRAGAL PIN CAPTURE g >
maintain the min. edge distance to mortar joints, additional concrete anchors "
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP) o W
3. Concrete anchor table: ASTRAGAL SIRIKE > >
PLATE @ SILL \ 1/2" DIA. HOLE (IN CAP) =
Y - o
h Y 1 Z
mw Lo\ [ & J @
TAPCON® | 3/16" 1-3/4" 3 = = E = = oATE: 11/8/18
mw U] " " 4" SCALE: N.T.S.
1apcoN® | 1/4 1-3/4 1-1/2 owe. 8 JK
o | | v v - 1/Z"DIA-HOLE peralL 2 DETAIL2. DETAIL3 o
WOOD SCREW INSTALLATION NOTES: Outswing Inswing Inswing TX—4909
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood. SHEET 8 oF 8

© zo18 R.W. BUILDING CONSULTANTS INDC.



